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M. Com. (Final) Examination, 2022
(Compulsory)
Paper Second

ADVANCED COST ACCOUNTING

Time : Three Hours] [Maximum Marks:100

 


Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

1/ Unit - 1

1.  


(a) What is meant by cost accounting ? In what es-

P.T.O.
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sential aspects does cost accounting differ from fi-
nancial accounting.

 


(b) What is cost centre ? What are its different types
? How does it differ from profit centre?

OR

X 


       

       

  

   

  

 




LIFO FIFO 

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

Record the following transactions in the stores
ledger account of X Ltd.-

15.1.2021 receipt 250 units costing  Rs. 312.50

21.2.2021 receipt 100 units costing  Rs. 130.00

24.3.2021 receipt  50 units costing  Rs.   67.50

05.04.2021 issue 55 units

19.4.2021 receipt 50 units costing Rs.  70.00

25.4.2021 issue 300 units

03.5.2021 issue 40 units

The issue on 05-04-2021 and 25-04-2021 were priced
at LIFO and FIFO basis respectively. As from
01.05.2021. It was decided to price the issue at
weighted average price.

2 / Unit - 2

2. 



P.T.O.
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State the reasons for disagreement between the
costing and financial results. Prepare an imaginary
reconciliation statement.

/OR




ABC D













The following is the output of workers A, B, C and D in
a particular 40 hrs, week

A-60 units, B-75 units , C-80 Units and D- 85 units
Guaranteed time rate     :  Rs. 5 per hour

Low piece  rate     :       Rs. 2 per unit
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High  piece rate     :     Rs.  3 per unit

High task                 :     Rs.  80 units per week

Show the earnings and labour cost per unit under Tay-
lor, merrick and Gentt Task scheme utilizing differen-
tial piece rates.

3 / Unit - 3

3. 




(i) 

(ii) 











P.T.O.

[6]

F - 3087

















The information given below is extracted from books
of factory producing a commodity in the manufacture
of which three processes are involved. Prepare pro-
cess cost account showing the cost output and cost
per unit at each stage of manufacture assuming  that :

(i) The operations in each process are completed
daily.

(ii) The value at which the units are to be charged to
processes two and three, is the cost per unit of
processes one and one plus two respectively.
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Process
       1     2    3
     Rs.     Rs.    Rs.

Direct wages       7500 15000 19500
Machine expenses       4200   3600   3600
Factorey cost       3300 4650   2700
Raw material        24000       -       -
consumed

units   units     units
Production (Gross) 2750     _        _
Wastage   150    210      200
Stock ( 1st April 2020)   -    250      500
Stock ( 31st March 2021)   -   440         100

/OR



 

 

 

 

 

P.T.O.

[8]

F - 3087

Write short notes on any three of the following :

(i) Job costing.

(ii) Joint and By-Product

(iii) equivalent production

(iv) Objects of estimate cost accounting.

(v) uniform costing.

4 / Unit - 4

4. % 
% % 


 @  

@  





In a brass Mill, the standard mixture consists of 70%
Copper and 30% Zinc.The standared loss of produc-
tion is 10% of input. From the following (actual) pro-
duction in a month, calculate variances from the stan-
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dard:

Copperkg@  kgStandard

Zinc kg@  kgStandard

kgkg

Actual output 3690 kg

/OR



What is Budgeting? Explain the different types of bud-
gets.

5 / Unit - 5

5. 


  

  

 



 

P.T.O.
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 

 

 

 

A.B.C. Ltd has placed before you the following trad-
ing results :

Years                      Sales (Rs.) Profit (Rs.)

2021                      2,00,000 10,000

2020                       1,80,000 4,000

Find out

(a) Fixed Cost

(b) B.E.P.

(c) Amount of profit of the sales is Rs. 2,50,000

(d) Sales in Rs. when desired profit is R. 7,500

(e) Margin of safety at a profit of Rs. 11,250

/OR


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

What do you understand by marginal costing? State
its usefulness as a tool for corporate decision.


